Unit 6 Review
1. Use the given information to solve triangle ABC.


A= 12° , B = 58° , a = 5

2. Use the given information to solve triangle EFG.

E= 40° 15’, F = 102°15’ , f = 25

3. Determine the number of solutions for the following triangle.

a) C= 58°, c = 50 , a = 67

b) A= 40°, a = 5 , b = 6

4. Solve the triangle with a = 80, b = 51, and c = 113 for C. Find the area!
5. In order to determine the distance between two aircrafts, a tracking station 

    continuously determines the distance to each aircraft and the angle between them. 

    Determine the distance between the planes when the angle is 28°, b = 71 mi , and 

    c = 36 mi. Use the drawing.

 



                                             


6. Write in component form if the initial point is (5, -3) and the terminal point is (7, -8)

a) Find the magnitude

b) Find the directional angle and write as 
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7. If you have two vectors: v = 3i + 4j and w = 2i – 5j find:

a) 3v + 2w

b) the angle in between

8. Find a unit vector in the same direction as
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9. Let u = 
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      Solve the following geometrically:

a) u + v

b)  u – v 

       Solve the following algebraically:

c)  u + 2v

d) 2u – v 

e) 3v
10. Are vectors 
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equivalent?

      P = (-2, 4) and Q = (3, -2)

      O = (0, 8) and R = (5, 2)

11. Give an example of a vector orthogonal to 
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12. Graph -3 + 7i
13. What is the value of 
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14. If 
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, put in polar form.

15. If 
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16. 
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Find:
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Find:
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17.  Simplify (4 + 2i)(3 – 5i)

18. Expand (5 – 5i)4
19. Expand (2 + 
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20. Find the fourth roots of 3 – 
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